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(1) {EJEE

(2) JEURS : BRJJAE 0-10kPa » SOyl CoaC(ATE ~ €805 ~ 1&[) ~ B =0~ Rt~ KPR -
(b) ZEEEE © BRJIAE 10-100kPa » S oz ~ @i ~ #haa -~ e BT - 18hER - it
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RREET]

: 753.9mmHg

M 28.92°C HER : 107/06/05

BEZK - 1110 RPM  EEER: 85V  EHR - 45A

BAZIER © 0.55kW

= HIRE AHER P/ v LEJER P/ HJJEE /A\h=Pv(=Pr-Ps) / v
(mm &) (mm &) (mm JEFE)
1 2.4 10 7.6
2 2.4 10 7.6
3 2.4 12 9.6
4 2.4 12 9.6
5 2.4 12 9.6
6 2.4 12 9.6
7 2.4 12 9.6
8 2.4 12 9.6
SEHE 2.4 11.5 0.1
2. sTEHEE:
P 753.9x13.6x9.8

HE p=—=

i V

RT  287x(273+28.92)

Yo,

\/29Ah \/2><9.8><9.1><0.826

1.159

=1.159(kg/m’) $&ER! A BRI

=11.27m/s g1 AL IR -

JE sSR! JRATI2EEKE - Q=AV,- 60——><0 32 x11.27 x60 = 47.7(m*/min )

SIBRCR 1y =T x100% =

AHERSSR 17

11 5x0.826 x9.8x47.7

R L=t

60 x1000 60 %1000

_ 0.826x2.4x9.8x47.7

Y Ty P

60 %1000 60 x 1000

L

_ 5 1009 =
L

0.074

005 _ 5729

=0.074 (kW) gizR! HRAZIS R -

=0.015(kW) gEaR! $RAEF

x100% =13.4% $E3R! IRATNREAIE -
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HE 960 1010 1060 1110 1160 | 1210 1260 1310 1360
N RPM RPM RPM RPM RPM | RPM RPM | RPM RPM

Ti@ER/y |75 (901|987 |1L5 | 1287 1437 |159 |1663 |17.37

(mm &)

THEER/ 7 |16 1925 (221 |24 |268 (301 |34 |35 |375

(mm &)

THBEAL=P/ |59 7087|765 |91 |1018 |1136 |125 |13.13 | 1362

v (mm &)

7e4R 2R

ERER 116 [1159 |1159 |1159 |1159 |1159 |116 |1159 |1.159
(kg/m’)

TEREV () 1907 o947 1034 1127 [119 |126 |132 |1354 |137

REQmimn) 1385 4218 4383 |477 |5057 534 |5604 | 5742 | 584
res

%ﬂgﬁ@w“ 0008 [0.011 [0.013 |0015 |0018 |0021 |0.120 |0.027 |0.029
78 .

RELRIIL 0039 (0051 0058 | 0074 | 0087 0103 |0257 0129 |03

WARBE () e 10 |78 |85 |92 |10 |110 |120 |130

WARR (A) |, 4 42 |45 |46 |5 5 54 |55

WAL AW 103 1oa |04 |055 |oss 075 |09 |1 |12
e ] s

BEZRIET lom |am |am |am 281 |28 (321 |27 |36
(%)

LR ZZ R 1

e REEDT 1130 1197 121|134 136 |137 |15 129 |18
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OREE TS 2 2 B E R E RS E 2/ )
(1)
DURESER! IATS AR - - BHEE) 760mmHg » FHEDRE 50% 2B HATAEIREE
2)
Qurp = 212420 (15082015 9 + 765 < 47.7 = 46.6
273 +28.92 760
Q:HE

P: KREES]
Td: KERE

P, x0.826 ,.
R
13.6 e

(KSR L E 13.6- 4T &%/ K%L E: 0.826)
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